BEBCIZDCCBHDET,

SH2FT7TR1B8 R

ﬁ%ﬁ?@ W@E@ﬁ%iﬁ

(ﬁ%g%)%

58 108 118 128 18 28 38
AN -7 )&,‘(N 23 _\_r —_ —
% e 1lg DHER~128 | X ?ﬁiﬂigﬁ)%‘w 1+ 1w 1 1% BIRBRERT 2 2 | | 1w ; T8 118 S 1
XERZ W AEEET o
2 FIRESEH BN ~ 3FEENTAI)
U - YU )/
2| 2 2| 2| 2|8 2| % 2| = 2| Blamnmaems | 2| |jsromae |2 2| M amemmano | 2
oo = - | SFERESTH B SEEBEBH N 3 W | Xen8 BROIN(G)
S|= 2|8 3| % 3| | s e | s|* 8|t 3| s|* |8 31x SEERFEH ) 31X
HEOHDB W | BEERBEE (50 4 - ~
4|+ 4|8 4% 4|+t 4| 4|% 4|8 41K 4| < 4 s | 4|
- BEDS o e S = ay
5 EI 5 W L(‘:%(DE' 5 ﬁ 5 B 5 7J< 5 :t 5 5 * 5 :t 5 W §1$%T§$B@ 5 ﬁ 5 ﬁ = DEE}&I‘%E—“
(=W =T SHRNESRES
6ls AR 6|k REARB 6l+ 6 SRAESRES (1) 6| sla 6l w 6le sle 6| x 6l+ 6l+
AR EHEAANLS ~ |ERHFIEED ZEROIR(3)
W W =
M sEamsenms | ] * ‘B i ik ’ x 1t | Plamgmman | | 7|8 7| &
MRERES BE(R¥E~8/19 W |BERATZEE2) W ERENDT A
8 [ K S|& 8 8K 8L WEA (=@ 8 8| XK 8|8 8 SRR (2) 8|& 8 8
LEA FE BIRRRREAG 1-2FHRT 2 (1) H—RER()
VU UG W\
S|~ S| L 9 [SAIZN o8 9 [ K o|& 9 93(355’&&%%5&(3) 9| L 9 9
wnB =5 MEREB~1 2 1-2FHRF 2~ (2) HRER(2)
10| ¢ 10 10 10| % 10 10 10 10| W 10 10 10 10
& el ©| P X & Blazsaosue | °| + Mo |°P x x
11| + ;;11% 117'(5%535;1\\@@@@ il 11»\,/“19#\ 12 1lB 11| % 12 11%@)&@5 117'(@53@0)5 11| &
s — & &
HETBIEBET)
12( B GG | 42| W 12| & |" 12( 8 12| 7 % Ff 12| = 12 12 12 £ 12| W ) 12| ¢ 12| ¢
= X BT A X mETDIRO) & &
2R a)) 4 & P =
13| B 13| K HROM() 13 & 13 13[ K 7L,; H 13( B 13| W ERBIERAD 13| & 13| B 13| o [PFERERTAROD ol + 13| £
AY
14| W 14| K 14 B 14| W 14| & 8 14 B 14| 2k 14| = 14| B FIVITIVER |, A |FTEATANE ) 5 14( 8
15| 7k 15| & 15| g [FER - ERRER | 5o 8l -+ [SPEEThRNE | W 15| K 15| B 15| W 15| & 15 15| B
16| & 16| - 16| W 16| & 16| @ |EHBETDENE | 6| 16| & 16| A 16| 2k 16| + 16| w [FTREREEIO o, S
17| & 17| B 17| 2k 17| & 17| B 17| K 17| = 17| W 17| K 17 8 17| 2K 17| 2K %g;i’i@%%i
- ol
U —SEHF%) FIVYTIUEHRS
18 18 18 18 18| W 18| % 18 18 18] % 18 18 18
e 3 A~ * H & B X |zmmmaerm | 0|2 7 * aECET
19( B 19| W 19| & 198 19| 2k 19|+ 19 19| K BRPETAE | g + 19| W 19| & M—FESBR | g & —cams
- ol
20| B 20| K 20| = 20| B 20| K ERHEESRD | 0| g 20| W 20| & 20| 8 20| 7k 20| = 20| = E008
21| W 21| K 21| 8 21| W RIRAPET A H | & 21| B HEDH 21|k 21|+ PTARSES |, A 21| K 21| 8 21| 8
22| K 22| & 22| 8 22| 7k 22| + 22 W UB0H 22| K 22| 8 22| W 22| & oo g |FTEEEEIES ol B B_RER
23| K 23| + 23| W 23| & BOB 23| 8 23| 7k 23| & 23| 8 BBRADE | g K 23| + HPEHRAR 23| W REAEB 23| W
24| & 248 24|k 24| & AR—Y D8 24| 8 24| K 24|+ RPEHRAZ 24| W 24| K 24| 8 24| K 24| 7K BoREROEAR
25| + 25| B 25| K 25| + 25| W 25| & 25| 8 25| K 25| & 25| 8 25| K 25| K
26| 8 26| W DHERM) 26| & SERDTAR | 6l g 26| 7k 26| 26| 8 26| K 26| 26| W 26| & IRHEHRDZE 26| & glﬁfﬁéﬂ@
I
27| B 27| & nEER(2) 27| 27\ 8 27| K 27|18 27| W =) 27| & 27| B 27| K 27| 27| + $E§§%3E|ﬂ
28| W 28| K 28| 8 28| W 28| & 28| B 28| 7k =BHEH2) 28| + 28| B SADEIREOG 28| K 28| 8 28| B
=] BFns 0| & sl B o0l so| 1 [PTAZYU=YEB ol ), 20| % =TEHEQ) ool g 20| w ==y e = o0l & HESHO 20| B
(~1/4) EREERES
20| # 0| + 0| w 0| & SEEBBEHE 1 [ g 0| %k BUEBHART R I~ (1) 0|% =B 0| B 30| K 20| + 0| w
31(8 31| & SHREIT B 2 31| 8 31|+ 31| K 3118 31| 2k
48 58 683 A 88 98 108 118 128 18 28 38
TREEZ 17:30 18:00 18:00 18:00 1730 1730 17:00 16:30 16:30 16:30 17:00 17:30




